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PREVIOUS KNOWLEDGE TEST
● TRIGONOMETRIC IDENTITIES

An equation involving trigonometric ratio of angle(s) is called a trigonometric identity, if it is true for all 

values of the angles involved. These are:

tan θ = sinθ/cosθ

cot θ = cosθ/sinθ

1.sin² θ + cos² θ = 1 

⇒ sin² θ = 1 – cos² θ 

⇒ cos² θ = 1 – sin² θ

2.cosec² θ – cot² θ = 1 

⇒ cosec² θ = 1 + cot² θ 

⇒ cot² θ = cosec² θ – 1

3.sec² θ – tan² θ = 1 

⇒ sec² θ = 1 + tan² θ 

⇒ tan² θ = sec² θ – 1

● sin θ cosec θ = 1 

● ⇒ cos θ sec θ = 1 

● ⇒ tan θ cot θ = 1



LEARNING OUTCOME

1 . Students will be able to know the Trigonometric Identities.
2. Students will be able to solve the problems involving Trigonometric 
Identities
3. Students will be able to apply and analyze Trigonometric Identities in 
solving problems.

4. Students will be able to convert t- ratios in terms of other t-ratios..     



Trigonometric Identities :    
https://youtu.be/3e3k1YH7G40 (10.45)









. If 7sin²A + 3cos²A = 4, show that tan A =1/√3



. If 7sin²A + 3cos²A = 4, show that tan A =1/√3



. Prove that: (sec θ + tan θ)² = cosec θ +1/cosec θ -1



. Prove that: (sec θ + tan θ)² = cosec θ +1/cosec θ -1



. If cos θ + sin θ =√2 cos θ, show that cos θ – sin θ = √2 sin θ.



. If cos θ + sin θ =√2 cos θ, show that cos θ – sin θ = √2 sin θ.



. If √3 sin θ – cos θ = 0 and 0° < θ < 90°, find the value of θ.



. If √3 sin θ – cos θ = 0 and 0° < θ < 90°, find the value of θ.



. If 6x = sec θ and 6/x = tanθ, find the value of 9(x²-1/x²)



. If 6x = sec θ and 6/x = tanθ, find the value of 9(x²-1/x²)
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1. . Prove that sec A (1 – sin A)(sec A + tan A) = 1.
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